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Unitary method and percentages / Ch.25,p. 16

QuestioNT  Work out the following.

a If 20% of a number is 68, what is the number?

b If 25% of a number is 230, what is the number?

¢ Find the total cost if 30% of it is $720.

d If 329% of a number is 800, what is the number?

e If 120% of a number is 80, what is the number?

QUESTION2  Use the unitary method to solve the following.

a  40% of a number is 54. What is the number?

b 50% of a number is 360. What is the number?

¢ 35% of a number is 28. What is the number?

d  68% of a number is 152. What is the number?

e  15% of a number is 69. What is the number?

QuesTioN 3 Find 100% of the number if a part of it is given.

a 2% s 20; 100% = __ b 10% is 98; 100% =
¢ 5% is 30; 100% = 4 15%is 80; 100% =
e 30%is 15; 100% = i 12%% is 960; 100% =
g 45% is 28; 100% = h 33%% is 1920; 100% =
i 60% is 300; 100% = " § 75%is 680; 100% =
k8% is 240; 100% = L 40% is 75; 100% =

Question 4 Find answers to the following.

a  John spends $55 per week on food. If he spends 20% of his income on food, what is his weekly income?

b Ispent 48% of my allowance on a movie which cost me $15.50. How much is my allowance?

¢ If 66%% of a number is 27, find the number.

d  Lisa's income increased by 4%. If her income rose by $830, find her previous income.
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Percentages v ‘
TOPICTEST - PART A
'nstructions e« This part consists of 15 muitiple choice questions | |

¢ Fill in only ONE CIRCLE for each question

e FEach question is worth 1 mark
s (Calculators may be used

fime allowed: 15 minutes _ Tot.al marks = 15

Marks

1 As a decimal 4%% equals

'@ 0.42 ‘ 0.45 - © o0.042 ® 0.045 . i
2 - 15% of 1.5 tonnnes equals o . -
@ 22.5kg 100 kg - © 225kg @ 1000kg ° ' 1:
| 3 A toy was reduced in price from $40 to $36. What is the percentage discount? :
; A 4% 10% © 11% D 96% 1
. 4 What would John pay for a CD player that sells for $550 but is discounted by 15%?
@A $82.50 $467.50 © $535 @ $632.50 o 1
5 Phofidis
[P+d pd
$Pd 5( 100 J © $100pd D) S5 1
© To increase 80 by 13% you evaluate
i @ 80+1.13 80 x0.13 © 80x1.13 D 80 +§% 1

1 . .
7 3 expressed as a percentage is

® 3% | 3% _ © 30% ‘ none of these 1

8 Express 7% as a decimal.

| @& 7.0 0.7 . © 0.07 @) none of these 1

9 Find 40% of 120 km
@ 3km 4.8 km - © 30km D 48 km 1




10

|

4

|5

Increase 250 by 6%

@A 265 256 © 400 @ none of these

Inatesta student gets 10 questlons wrong out of 25. What percentage of questions are
correct?

@ 15% 40% © 60% '® 90%

After 20% of a bill is paid, $60 still remains to be paid. How much was the tofal bill?
® s12 563 © s$72 - O 375

32 equals

a0 S04 | |

@ 8% 16% © 40% ® 80% -, .

Which of the following marks is better than 50%?
@ 9 out of 25 40 outof 70 © 50outof200 (@ 55 out of 120

A concrete mixture contains 1 part cement, 2 parts sand and 2 parts grave[
What percentage of the mlxture is sand?

@ 20% ® 33§ - © 40% ) 66%%

Marks

Total marks achieved for PARTl A

15




